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ΠP + PΠ = 0. L39M
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	� /�� ��$�%& � 8�� V0 6���0��)�* �!��� 	� /��
$ ���$ 8;�� �$ 8;�� ��� ����� �� ����( �� /�2� ��$ 8;�� 8
A�
	� 8�� ��;� ��0$ 	( �/��
$ �G7��� �d:6� ��,/N� 	������ b2: , /��� �� ��� �G7 80� 	( ±∞�� �$ c�%C ���

����%F �� /�2� ��$ c�%C ���)�*

Vn



− �
2

2m
d2ψ

dx2
ψ + V0ψ(x) = Eψ |x| > a

− �
2

2m
d2ψ

dx2
ψ = Eψ(x) − a ≤ x ≤ a. L57M

K��� �
�%�6�( ��6 �� ���� �<= 	( +�%� �� �� OI���� ���

d2ψ

dx2
ψ = q2ψ q =

√
2m(V0 − E)

�2

d2ψ

dx2
ψ = −κ2ψ k =

√
2mE

�2
L58M

, ],6 R(�%� �H�, 	( �� �)�* ����%� �� ���� /��
$lA`� 	����� ����� �!��� R(�%� �H�, 8�� ],6 ��
���� ��� 	� �a�*6�
K/��
$��6 �<= 	( ],6 ��$ c�%C ���$� �� +�`� ψo �( �� ��: ��$ c�%C , ψe(x) �( �� ],6 ��$ c�%C ����� ��
2� ��:��

ψe(x) =

⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

eqx x ≤ −a,

A cos kx −a ≤ x ≤ a,

e−qx a ≤ x.

L59M

K�%= ����6 b(�, � 	( �a�� a 	P2��� +* W�`� , ]%� R(�� �>��%�� Z�=

e−qa = A cos ka

qe−qa = Ak sinka L60M

K/�* �� 8�/( ��6 	P(�� �$�( ,� ��� ��
2�6� 	�

cot ka = k
q . L61M

K/��
$��6 �<= 	( ��: ��$ c�%C

ψo(x) =

⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

eqx x ≤ −a,

B sinkx −a ≤ x ≤ a,

−e−qx a ≤ x.

L62M
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K�%= �� ��6 b(�, � 	( �a�� a 	P2��� +* W�`� , ]%� R(�� �>��%�� Z�=

−e−qa = B sin ka

qe−qa = Bk cos ka L63M

K/�* �� 8�/(��6 	P(�� �$�(,� +* ��
2�6� 	�

cot ka = −q
k . L64M

@,� 	( 8
��( �� �� OI���� ��� ����,* 8�/( ��
���� ��? ���( �� �!��� �H�, ����2� ����%� �� 64 , 61 b(�,� �� �(
"���� �( 	� 8�� ����� �C ����� ���
�%�( ��j��  � �
��( �� 	;���� ��:�# 8
��( �� +*6� �Y���� ����� �� �0����

K���� �
�%�6�(��6 �<= 	( �� OI���� ��� λ :=
√

2mV0a2

�2 ������� , y :=
√

2|Ea2

�2 ��j��

K ],6 ��$ c�%C ���(

cot y =

√
y2

λ2 − y2
, L65M

��: ��$ c�%C ���( ,

cot y = −
√
λ2 − y2

y2
. L66M

�/�$� �� +�`��� OI���� ��� �0���� �� w , s ��$ �<=
K���( �� �� �$ c�%C �)� 8�7�& /�? 	( �$ �<= ���6�

	<�����, �%= ���6 +* ���)� ��, ��? W0X 	� 	?�$ ����(��( �/(�� �� g��U:� U�� /�2� ��$ 8;�� ��/�� λg��U:� �( � V
��%= �� ��`�( U�� /�2� ��$ 8;�� ��/�� /=�(�� ���6 ��� S�C

+�����  � ],6 , ��: ��$ 8;�� +*6�/�( , 8�� ],6 8;��  � ������ �!��� ����0� 	� ��;�� ���� 	��� 8;�� � ^
�/���F ������

Vr



�

Cot (y)

���� ��
y

],6 ��$ c�%C ���( �!��� 	;���� �0���� �� Ks �<=

 � �)�� 8;�� ����� ����/� �%C, ��: c�%C 3/=�(��0� π
2 6� λ 8(�J 	� /=�( +��? ��
���� ���)� , W0X ��F�$ � i

����� �%C, ],6 c�%C

��$ c�%C ]%� 4%# 	a����� , 3�%= ����0� q ���e , ��`�( k ���e 3�%= ����`�( �!�����/2� 	� 	?�$ � k
U�� 8�� 	X%�0� 	����  ��[��1�6� 	� �� 	���� ���� V0 ≥ E 	���� +,�� 	( �)�* �%G� W0X , �/=��0� ��? �&�� ��%���

��%= ����0�

3λ −→ ∞ 	<��� ��;/( �$ 8;�� ����� ����� �%C, �!��� 8;�� �H�, 8��)� �( V0 −→ ∞ /��� 	� 8�� fe�, � n
K/��* ������6 �<= 	( I�( OI���� /� ����� ���� �� U�� �
�
N� �<= 	( +�%� �� �� I�( OI����

K],6 ��$ c�%C ���(

cot y = 0 −→ y = (n+
1
2
)π −→ En =

�
2

2ma2
(n+

1
2
)2π2. L67M

K��: ��$ c�%C ���(

tan y = 0 −→ y = (n+
1
2
)π −→ En =

�
2

2ma2

2

nπ2. L68M

��%= ���G7 �( �(��( ��
���� ��? ��$ ���%�� �� ]%� R(�� ��/2� , �%= ���G7 �(�(��( �\2��� 	X%�0� 	���� 	( �%G� W0X /� �����
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Cot (y)

���� ��
y

��: ��$ c�%C ���( �!��� 	;���� �0���� �� Kw �<=

���
�� ��� ��� !"
# ���

K/��* ������6 �<= 	( ],6 ��$ c�%C 8;�� ����� �8�� V0 6� ��`�( �)�* �!��� 	� /��
$ ���$ 8;�� 3�$ 8;�� �H�, ���

ψe(x) =

⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

eiqx + Ce−iqx x ≤ −a,

A cos kx −a ≤ x ≤ a,

e−iqx + Ceiqx a ≤ x.

L69M

+*�� 	�

q =

√
2m(E − V0)

�2
. L70M

R(�� �>��%�� b���= 	� ���, 	a����� �8=�� ��>��� +* 8
��( �� , �%= �0���F�, −∞�� e−iqx 	x 
0C �>�� c�%C �����
���� m%e%� ��� �(E, A, C) 6� /����YX 	� ��)C�%� 4%)a� 	� , 	;����,� �( ��
�%� �� x = a 	P2��� �� +* W�`� , ]%�
��/2��$ ��6� 	( , /=�( 	�=�/� 	�

F ����2� �!��� �>�� 	� �%= �� {X�( OI���� 	( 8Y
� OI%)a� ��/�� +�%(�����6

K6� /����YX a 	P2� �� �6�� b���= �� f��7 �%# 	( ����,��( 8�/( (A,C) ����e ����2� ����%�( E 	x ��%��

Vw



e−iqa + Ceiqa = A cos ka

iq(e−iqa − Ceiqa) = Ak sin ka L71M

K�%= ����6 b(�, � 	( �a�� 	Y��N� �0��( 	�

C = e−2iqa iq cos ka+ k sin ka
iq cos ka− k sin ka

, L72M

,

A = e−iqa 2iq
iq cos ka− k sin ka

. L73M

����
F �d:��∞ �� −∞6� 	� ���� �%C, h%: ����e �( ψe ]%� R(��  � E ≥ V0 �!��� ��/2��$ ��6� 	( 8;�� �����
�8�� ����
�� ]%�  � O�%7 	( ��
���� 	������ , 8�� 8A� ]%�,� 6� �Y���� O�%7 	( 	�����$�� ]%� R(�� ��� �8��
	��<� +�%(�����6 6� �=�� 	� 8�� ��
���� ]��& 6���0� ��
���� +,�� 	������ ]�%�� ��� ]%� 4%# 3k ≥ q 	<��� 	( 	C%��(

�8�� ��
���� +,�� 	������ O��� �`Y�C �!�����,

/��* ������6 �<= 	( ��: ��$ c�%C 8;�� �����

ψo(x) =

⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

eiqx +De−iqx x ≤ −a,

B sin kx −a ≤ x ≤ a,

−e−iqx − Ceiqx a ≤ x.

L74M

K6��%( /�$�%& O��YX x = a 	P2��� �6�� b���=

e−iqa +Deiqa = −B sin ka

iq(e−iqa −Deiqa) = kB cos ka L75M

K�%= �� D , B ���( ��6 ����2� 	( �a�� 	Y��N� �0��( 	�

B = e−iqa 2iq
k cos ka− iq sinka

, L76M
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V
0

-

����� ],6 /�2� c�%C  � �)�� ��;� ��
���� ��? KyV �<=

,

D = e−2iqa iq sin ka+ k cos ka
iq sin ka− k cos ka

. L77M

�	1� �����	
 ��
 �

��� ���$� �� +�`� V (x) = −V0δ(x) ��
���� R(�� �( �� +* , ����F ���1��� �� �� ���)��( W�0X ���
( ��?  � gA( �����
��
���� 	� �a�*6� �/$� �� +�`��� ��? ��� yV �<= �8�� ���%� �
�& ��( �( ��U( �
�& 	(��C �,���  � �/�$� +�`� ��?
	;���� +��� ��6� 	� /��
$��6 �<= 	( ],6 ��$ c�%C ����� ��
2� ��: , ],6 	( �� +* ��$ c�%C ����%� �� 8�� ],6

/�� �/�* 8�/( ��
���� �%�,��� �>���,�= ��6*

ψe(x) =

⎧⎨
⎩

eqx x ≤ 0,

e−qx 0 ≤ x,
L78M

�q =
√

2m|E|
�2 +*�� 	�

�%& +��D0$ �;, /=�( 	��%�� /��%� �0� ]%� R(�� W�`� ��;� ��
���� ��%��� ���GF �9: 4,� ����d��� 	� 	D�* �( W(�P�
	P2� 6� �>���,�= 	;����6� ���,��( 8�/( �G7 	P2� t�#,��� �� W�`� O,�G� 	<�* ���( �/=�( 	��%�� 8
��( �� ]%� R(��

�����F �� 4��>��� ε 	P2� �� −ε
����� �$ c�%C ��� ���(

−�
2

2m
(ψ′

e(0+) − ψ′
e(0−)) + V (0)ψe(0) = 0. L79M
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V
0

-

a-a

��0�� ,� 4%<;%�  � ���( ���� �;/� 3����,� ��
���� ��? KVV �<=

�( 8���(��( /�2� 8;�� ��� �!��� ����� �%C, ],6 /Q �2� 8;��  � b2: ����(��( �q = mV0
�2 ����F �� 	a��� 	;���� ���6�

E = −�
2q2

2m
= −mV

2
0

2�2
. L80M

K/��
$��6 O�%7 	( ��: ��$ c�%C

ψo(x) =

⎧⎨
⎩

eqx x ≤ 0,

−e−qx 0 ≤ x.
L81M

K/�* ������6 O�%7 	( �6�� Z�= �$ c�%C ��� ���(
−�

2

2m
(ψ′

o(0+) − ψ′
o(0−)) + V (0)ψo(0) = 0. L82M

E� ����/� �%C, ���: /�2� 8;�� .�$ ����(��( �ψo = 0 	� 8�� ��� ����� 	( 	� V0ψo = 0 ����F �� 	a��� +*6� 	�
�( 8���(��( +* �!��� 	� ���� �� ��>� �%&�� �� ],6 /�2� 8;��  � �)�� V (x) = −V0δ(x) ��
���� ��? 	� ��� ���� +�`�

� E = −�
2q2

2m = −mV 2
0

2�2

#%2�/� 34514� (� ���� #1�� 6���7/� �����	
 ��
 �

��
���� ��� ����� �� 	�(�P� 8�� �0��,� 4%<;%�  � ���( �� ���� 4/� 	� �� 	��F,� ���;� �
�
���� ��?  � gA( �����
��
���� R(�� �/���� +,��<;�  � ���( �0��,� 4%<;%�  � 8Y5� ��$ +%� 	� 8�� �� 	(��C g�� �$�( �/�$� +�`� /��%� ��

K8����6 �<= 	(

V (x) = −V0δ(x− a) − V0δ(x + a). L83M
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���� ���� 4%#�� �!��� +%�
��0�� �a����� V0 	� ���� 8�� /��(

[V0] = [E][L]. L84M

��
���� +�%( ],6 	( 	C%��( �8�� ��6* �>���,�= 	;���� �� ]%� R(�� , 8���G7 ��
���� ��;� ��$ R(�� ��( ���%���
K/��
$��6 �<= 	( ],6 ��$ c�%C �/�%= �� ��
2� ],6 , ��: 	( �$ c�%C

ψe(x) =

⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

eq x ≤ −a,

A cosh qx −a ≤ x ≤ a,

eqx a ≤ x.

L85M

K�%= �� ��6 Z�= 	( �a�� x = a 	P2��� ]%� R(�� �>��%��

A cosh qa = e−qa L86M

K/�* �� 8�/(��6 	P(�� 6� U�� W�`� �>��%���� ,

− �
2

2m
(ψ′

e(a+) − ψ′
e(a−)) − V0ψe(a) = 0 L87M

K���,* �� 8�/( �
Y� 	;���� 6� ���G����( ,
�

2q

2m
(1 + tanh qa) = V0, L88M

�� ,

tanh qa =
2mV0

�2q
− 1. L89M

K���� �� �
�%�6�(��6 �<= 	( �� 	;���� ��� λ = 2mV0a
�2 , y = �

2q
2mV0
/Q �( +,/( ��$������� "���� �(

tanhλy =
1
y
− 1. L90M

�� ���� �� ��� +* �� 6� �Y� �;, ���� �� ���G��� �0���� @,�6� �$6�( 	;���� ��� ��$ �� +��,* 8�/( ���(
����� ��: ��$ �� ���( ����,* 8�/( U�� �� ��: ��$

ψo(x) =

⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

eq x ≤ −a,

B sinh qx −a ≤ x ≤ a,

−eqx a ≤ x.

L91M
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tanh(y)

y

y
1

-1

1 y

����,� ��
���� ��? ���/2� �H�, OI���� �0���� �� K^V �<=

K�%= ����6 	;���� 	( �a�� ]%� R(�� �>��%�� Z�=

B sinh qa = −e−qa, L92M

K�%= ����6 	P(�� 	( �a�� I�( Z�= ���0$ 	( U�� W�`� �>��%���� ,

tanhλy =
y

1 − y
. L93M

��
���� ��? ���( �� ��: , ],6 ]%� R(�%� kV , iV ��$ �<= �/$� �� +�`� �� 93 , 90 OI���� �0���� �� ^V �<=
�/�$� �� +�`� ��;� ����,�

K8&%�* +�%� �� �� ��6 O�<� �0���� �� ���6�

�� , 3qeven ≥ qodd 	� 8�� +* ����� 	( 	� yeven ≥ yodd 8;��,� ��� ���( ����� �%C, /�2� 8;�� ,� �5��/� � V
�Eodd ≥ Eeven

��`�(  � 6� �G7 	P2��� 8��H��� ��N�� ��= 	� ���� �%C, ���, �)�� ��: c�%C �;, ���� �%C, ���%0$ ],6 c�%C � ^
�)�� ��: c�%C ����(��( � 2mV0a

�2 > 1 Z�= 	� ���� �%C, ���,�)�� ��: c�%C ����(��( 38�� λ �( �(��( ��= ��� 	� �a�*6� �/=�(
�/=�( ��U( �:�� �6�/� � 	( �>�/<�6� ��? ,� 	
7�: �� , ��
���� W0X 	� ���� �%C, ���,

	� O�%7 ��� 	( /=�( ��: , ],6 8;�� ,� 6� �P& �Y���� ��� 	�;,� 8;�� 	� /��� q�: 4�� � i

ψ(x, 0) =
1√
2
(ψe(x) + ψo(x)). L94M
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��;� ����,� ��
���� ��? ���( ],6 ]%� R(�� KiV �<=

V
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-

a-a

�
O

��;� ����,� ��
���� ��? ���( ��: ]%� R(�� KkV �<=

����� ���� 8��� t�# ��
���� ��? t��#��� ��`�( ��� 8;�� �����
6� 8�� O��YX t 	1N;�� ]%� R(�� O�%7 �����

ψ(x, t) =
1√
2
(e−i Ee

�
tψe(x) + e−i Eo

�
tψo(x))

≡ 1√
2
(ψe(x) + e−i Eo−Ee

�
tψo(x)). L95M

�( 8�� �(��( 	� T +��6 8=TF 6� E� 4��

T =
2π�

Eo − Ee
L96M
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+*�� +!,���� ��� 4���� 8��e,,� , 3v���%�* 4%<;%� KnV �<=

K/�* ������6 O�%7 	( ]%� R(��

ψ(x, 0) =
1√
2
(ψe(x) − ψo(x)). L97M
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5�  � '%�� �<= 	( +!,�/�$ ��$ ��� 3NH3

�( W(�P� ���� +�`� ��
���� ��? ,� �( +�%� �� �� �;���� 8��e,,� ��� �/�� 	�:�F���� 	NG7 ��� t�#,��� 	� ���� �;����
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(
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	a����� ����,* 8�/( �� �
� �%YX ���e ��(�� ��$/� ���6� S�/��$6��%YX ����e +��� c�e�( , 	�:�F�1��� Δx +�
<�

log |T |2 ≈ −2
∑

x

q(x)Δx = −2
∫ √

2m(V (x) − E)
�2

dx, L137M

	a����� ,

|T |2 ≈ e
−2
∫ b

a
dx
√

2m(V (x)−E)

�
2 . L138M
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����� �� 	�;�P� �� ��6 ��%� �/�/� 6� ���$ 4�5� �/�( gA(��6 ��
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��/�$ �<= �8�� �/= ��<`� �/�( 	� ��d:�� 4%
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( �1� 	� ���NG7 �( �>�/<�6� �$�%
(,�<�� ����� U
: m%� 	( �>�
( 4%
�
+,��<;� /�? ��  � �$ +%� ���6� S�/��$ �/�� �/= ���� �/�( 	� �� 	���*�� 	� 8�� �/= ��<`� ��Y5� ��$ +%� 6� l;�&
�� ���2� ��;,��� �/��
�� 	�
(�, �7�& +%� .�$ 	( , /��
$ ��6* �\Y��2� �/�( 	� b�N��� �$ +,��<;� ��� �/�� ���� ��6*

io



8��U
: ��$ ���%�� /�� �� /�2��� �$ +,��<;� 	� �U�?�)�� �����1� t�7 U�� �>�/<��( �$ +,��<;� g�� �$�(6� +�%�
�5� �� U
: b�N� +�%� �� ���2� ���� ������ ����(��( �/������: U
: b�N�6� /���%� �0� /��
$ ��6* 	� ��%C,�( �$ +,��<;�,
�� �/���%& /��C 8;��  �U�: '���� �8���(��( U
: ���(� �( +* ���(� 	� 8:�F�1��� W�0X , �/�( 	� ��
���� ��?  �
�)� ��%& 6� ����
( �%C, ����( �/�� 4�Y�� �� +* +,�� �$ +,��<;� 8��� , U
: +�0�&�� 6� ��� W��� "�7%� /��%�
 � �� U
: �F��� ���( , '�� ��� +�%�X �( W(�P� ���( �$6�( �C ����� �/�0): +�%� �� U�� ���� ��%9� ��0$�( �� U
:
S�C 	( +,��<;�  � �!��� _%P� ���$� �� +�`� L ���)� , V0 W0X 	( ��
���� ��?  � �( �� +* , ����F ���1��� �/�(

	Y��� 6� ����F �� L ≈ 10−3 m 	Y���6� l;�& �%
(  � ���( +* ���(� 	� ��? ����� m = 9.11 × 10−11

ε ≈ �
2

2m
1
L2

≈ 10−68

10−30
× 106 ≈ 10−32Joule ≈ 10−13 electron volt L139M

S,��
>�* �� /�? 	Y���6� +* ]%� 4%# 	� ����� ]���� gG�(��: �� x 	�=� 	( U
: fP�6� +,��<;�  � +/�� ���( �8��
8����6 	Y���6��$ +%�%: ��� �!��� �8��

hν ≈ �
c

λ
≈ 10−34 × 108

10 × 10−10
≈ 10−17 Joule ≈ 100 electron volt L140M

_ %P� 	Y��N� ���( ����%� ���� , 8�� ��U(���
(���
( ��? W0X +,��<;�  � �!��� ��$6����( 	
��2��� ����(��( �8��
�/X  ��(�)�� �!��� _%P� 	� ����� �� �$�? ���? ���( �����>( 8��)� �( [\ 0X �� ��? W0X 3��?�� +,��<;� �!���

K6�/����YX , /�%= �� lA`� ��%���%�

εn =
�

2

2m
(
nπ

L
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�!��� ��$6��� /���%� �0� 8�� 12 +* ��~�� 	� +,��<;� �5� 8�� f�N7 	0�� �)�* ��~�� 	� ����� 	� /�� �� +��( 8��
�����%& �� �;,,�� ��# �7� �� 8�7�& ��� ����>(���� �!���6���  ��� 8
��( �� �)�*6� S�/��$, /��� 4�j=� ���
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3/��( �%& �!��� ����0� 	( 	� ���� ���0� ��>�� ��
���$ �5� �U
: �%
( 4���� 8;���� 	� �a�*6� �8:�F/$�%&����
���: fP� �%= �� 4�j=� 	� �!��� fP� ����I�( �Ly^ �<=M /��� �� 4�j=� I�( 	( ����� 6� �� �!��� _%P� �$ +,��<;�
�Q ��: �!��� fP� 	� �a�*6� ���,* 8�/( +�%� �� �����( �� ���: �!��� /�(  ��� ��%= �� ���� +�`� EF �( , ���� S��

����� 8�� �/= 4�j=� +,��<;� ����� N b�%� EF

EF =
�

2
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(
π

L
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$�� ���: 6�����6�� �!��� _%P� S�0� � �<���<;� +�/�� c����� �$ +,��<;� �!��� _%P� Ky^ �<=

	�=�� ���: �!��� fP� 6� ���0A� 8����)( ��%= �� ����� U
:�� �$ +,��<;� �;�>? b�%� ���: �!��� fP� ����(��(
���=�(

/�����TF�, U
: b�N� 	( +,��<;�  � S�/��$ /�� �/=�/C �>�/<�6� S,��
>�*  � 	Y���6� �� 	
7�: 	( 	� �$ +%� ��F�$
8����6 	Y��� 6� ���: �!��� U
:  � ���( ����(��( ��%( /$�%& 1010 m−1 �( �(��( �$ +,��<;� �;�>?

EF ≈ 10−68

10−30
1020 ≈ 10−18 Joule ≈ 10 electron volt. L143M

fP� 6���I�( ��$6��� 6� �d�( �$ +,��<;�q%X�� , /�=�( �;�& ���: fP���6 ��$6��� 6� �d�( 	� 8�� �<0� ��*
�$ , �C��& 	�=� g(�� �� , �$ +%� �( ��%&�( �� , �>�/<� �( g�� �$�( �J��� /���%� ���$ +,��<;� B/�=�( ���� 4�j=� �� ���:
300 K◦ �,/��� �� +* 	� h��� �;%0�� ������ �/��� �%�7 ���: fP� 6���I�( �;�& _%P� 	( �����F OI[�&��J��� ���?

����F ��
	Y���6� �����F �!��� +�U��

kT ≈ 1.38 × 10−23 × 300 ≈ 4 × 10−21 Joule ≈ 3 × 10−2 electron volt L144M

	( /���%� �0� 4%0�� �����F OI[�&��J��� ����6 _%P� � �$ +,��<;� ��;� ��0$ 	( �8�� ���: �!��� S��U)<� 	� 8��
��I�( _%P� 	( ���: fP� ��U� ��$ +,��<;� 6� �0� ��/�� �)�� h��� �;%0�� ������ �/��� �%�7 ���: fP� �I�(

�/�%= ��  ��N�
���( 	� �!�����/2� 6� 8�� O��YX V0 − Ef ���� ,� ��� O,�G� ����>( Ef �� ���: �!��� fP� , V0 �� ��? W0X ��F�$
�� +* , ���%F ����� R(�� +* 	( 	� 8�� �U�? +�0$ �!�����/2� ��� �8�� S6I U
:6� ���: fP� ��U� ��$ +,��<;� +/��

� W = V0 − EF ≈ 100 ev. ����(��( ���$� �� +�`� W �(

+,��<;� ���( ��6 ��%� +�<�� +�%� �� U
:  � �<��U��� �<���<;� +�/��  � 4�0X��J��� 	�%>? 	� ��$� �� +�`� 4��
�� ��
 �� � � �!� �� V^ �<= ������6* / �� ��� � :�� � F +*�� 	� �$�? 6� ���$ +* , ���� �$�� : �� ��� : fP�  ��U � ��$
	������ �<���<;� +�/�� ����� ���� x = 0 	P2��� ��? 8��� 80� 	Y; �/$� �� +�`� U
: �<��U��� �<���<;� +�/���%d���
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:6� ]��& 	( ���: 6���  ��U� ��$ +,��<;� � �<���<;� +�/�� �%d��� �$ +,��<;� �!��� _%P� KV^ �<=
�/��6

�( 8���(��( /�� ����a�� +�/�� ��� 	� �<���<;� ��
���� �8�� u? t�# 	(,� U�� +* 8)C, 8�� �/= "���� x > 0

��? 	a����� �V (x) = −eEx �( 8���(��( +�/�� ����� +,��<;�  � �!��� ����(��( ���� 	�:�F +�/�� �6�/�� �� E �φ(x) = Ex

K/$� �� �<=���j���6 O�%7 	( ��
����

V (x) =

⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

V0 x ≤ 0,

0 0 ≤ x ≤ L,

V0 − eEx L ≤ x.
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�<= �,�6� �/�%= �$� U
:6� , /��U( ��%� 8��� 80� 	( ��
���� ���6� /���%� �� ���: fP�  ��U� ��$ +,��<;� 4��
�a = W

eE �� , V0 − eEa = EF 	� 8�� S%
��
�( 8���(��( 8�� ���: fP� �<��U��� 	� ��,��<;� ���� 38�� EF �( �(��( +* �!��� 	� ��,��<;� ��6 ��%� 4�0���

|T |2 = e
−2
∫ a

0
dx
√

2m

�2 (V (x)−EF ) = e
−2
∫ a

0
dx
√

2m

�2 (V0−eEx−EF ) = e
−2
∫ a

0
dx
√

2m

�2 (W−eEx)
. L146M

K�( �%= ���(��( ��6 ��%� 4�0��� 4��>��� ��� 	Y��N��(

|T |2 = e
− 4

3

√
2m

�2
W

3
2

eE . L147M

�8���%)`� Fowler −Nordheim 	P(�� 	( 	P(�� ���

��� ���( B 8���/2? ��6 ��%� 4�0��� 100 volt m−1 ��Y� 6� t����� �<���<;� +�/��  � ���( 	� ���U( ��0A� /����(
V 	Y���6� 	� �Y���e 6� +����1� t�7 , ��/X ����2� ���T>��C�( 	a����� �����F �� 100 ev �( �(��( �� ��� R(�� 	Y��N�

iw



K8=�� ��$�%& /��
$

|T |2 ≈ exp(−4
3

√
2m
�2

W
3
2

eE
) ≈ exp(−

√
10−30

10−68

(100 × 10−19)3/2

10−19 × 100
) ≈ exp(−1011). L148M
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+,��<;� U
: +,���� ���? �$ � /�� �� ��%&�( ��
���� ���%�� 	( �$��( , �$��( 	���J  ��� +,��<;�  � 	� ��� 8�� /��( 	�Y;�
����6 �� ��0A� �� 8�0� ,� ��� �/�$� S�a�� �� ��6 ��%� ��� /���%� �� 	� /���� �%C, ���: fP� ��U��� ����
( ��$
��� �
��  � �� �%
( ,�<�� ���(� ��F�$ �8�� 	���J�(��� v ≈

√
2EF

m ≈
√

10×10−19

10−30 ≈ 106 	Y���6� U
: +,�� +,��<;� 8X��
��� �/�� �� ��%&�( ��
���� ��? ���%�� 	( ��( /�? +,��<;�  � 	���J  ��� 	� ���U( ��0A� ����%� �� 3����>( ��� 10−3 ��

K8����6 	Y���6� ��/��

n ≈ v

2L
≈ 106

10−3
≈ 109. L149M
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�& a 	
7�: 	<��� �� , /=�( ��U( ����;� h%: �<���<;� +�/���� 8
��(
��%� 	
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�<���<;� +�/�� c����� /��
$ 6��� �$ U
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K�( 8���(��( ��6 ��%� 4�0��� 	a�����

|T |2 ≈ e
−2
∫ a

0
dx
√

2m

�2 (V (x)−EF ) = e
−2
∫ a

0
dx
√

2m

�2 (W−eEx)

= e
−2
√

2mW

�2

∫ a

0
dx
√

1− eE
W x = e

−2
√

2mW

�2

∫ a

0
dx
√
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− 4
3

√
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��
�%�( ����%� �� 3a << a0 3t����� �<���<;� +�/��  � ���( 	� �a�*6� �a0 := W
eE +*�� 	�

|T |2 ≈ e
−2
√

2mW
�2 a L151M

����2� ���(

W ≈ 10 ev ≈ 10−17 Joule, a ≈ 50A◦ = 5 × 10−9 meter, m ≈ 10−30 Kg, L152M
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|T |2 ≈ e−40. L153M
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���� ���%�� 	( +,��<;� 	� �� ����:� ��/�� �F� ����� c�
� �%= �� �7�� ��6 ��%� ���6� 	� �� �����C ����%� �� 4��
�� S�a�� ��6 ��%� 	� �� ���$ +,��<;� ��/�� , ��$� ���� n ≈ 109 s−1 �( �(��( �
Y� O�Y��N� �( W(�P� �� /�� �� ��%&�(

�( �%( /$�%&�(��( /�* �� 8�/( 	� �����C 3��$� ���� r = 1010 �( �(��( /�$�

I ≈ |T |2ner ≈ e−40 × 109 × 1010 ≈ 10−17 × 10−19 × 1019 = 10−17 Amp = 10−11 μAmp. L154M

�8��  ?%����
( +���C �����/2� �%= �� �/$�`� 	��%P��0$

�*�� +,���# ����

��%A(�%& ��
F W��#6� %����%���� ��>�� ��$ 	�
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�/�� �� cTC ��? +,�� 	( �� +* F = 2(Z−2)e2

r2 �,��� �( 	� �%= �� �
�#��j�,��<;� 	(��C �,��� ���:�F ��� ��� ��?6�
�<= ����� �8�� k^ �<=�� �/= ���� +�`� O�%7 	( ��
���� ���� �<= �8����( /�
( �� 	�
$ �,��� t[&�( ,��� ���

���$� �� +�`� Z2 �( �� �/��0���( ��>�� 	�
$, Z1 �( �� �G;* �x�� ��( ��6 O�Y��N� �� ,
�( 8���(��( ��6 ��%� 4�0��� �/�U( ��%� 8�� +*�(��(�� 	� �
�
���� /� 6� /��%� ���G;* ���

|T |2 = e−G G =
∫ b

R

2

√
2m
�2

(V (x) − E). L155M

����6 �� ���2� n^ �� �/= ���� +�`� �<= 	( �� V (x) ��
����
8=�� ��$�%& 	a�����

G = 2
∫ b

R

2

√
2m
�2

(
Z1Z2e2

r
− E) = 2

√
2m
�2
Z1Z2e2

∫ b

R

√
1
r
− 1
b
dr L156M
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I =
∫ b

R

√
1
r
− 1
b
dr =

1√
b

∫ b

R

√
b− r

dr

r
1
2

= 2
√
b

∫ π
2

θ0

cos2 θdθ =
√
b

(
π

2
− sin−1

√
R

b
−
√
R

b
(1 − R

b
)

)
. L157M

	a�����,

G = 2

√
2m
�2

Z1Z2e2
√
b

(
cos−1

√
R

b
−
√
R

b
(1 − R

b
)

)
. L158M
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K�6 ���2���6 �<= 	( +�%� �� �� G ����(��( , b >> R ����� ����� ��$ �!�����

G ≈
√

2mZ1Z2e2b

�2
π. L159M

+%���6� ���G����( +�%� �� �,� �� 8��)� �( 	( , �%= �� ��6* U�� �!��� ��0$�( , E �( 8���(��( �G;* ��� �!��� 	��a�*6�
����� R��, �� ���� c�
� �G;* ��� ���)� �!��� �
��( �� b ��/2� �!��� ��2(

E =
Z1Z2e

2

b
−→ b =

Z1Z2e
2

E
, L160M

38=�� ��$�%& �\���)� G O��YX�� ��/2� ��� ���T>��C�(,

G ≈ πZ1Z2e
2

�

√
2m
E
. L161M
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	� τ ≈ R

v ���� /�� �� �# �� R 	
7�:��(  � �G;* ��� 	� ����6 	
7�: �( 8�� �(��( �\Y��2� ��%&�( ,� �$ ��( +��6 �n = eG

�( 8�� �(��( �G;* ���  � �,/7 ���( S6I +��6 O/� ����(��( �8�� ��� 	�
$ +,�� �G;* ��� 8X�� v +*��

T ≈ R

v
eG =

R√
2E/m

e
πZ1Z2e2

�

√
2m
E .
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�
���� 6� � � ���� ���2� Kn^ �<=

�# ����6 /����: 	( 	�Y= �/����: , 3�%= ����  Y� 	�
$ � 	( ��/Y� �Y��2� �%P( 	���J T +��66�/�( ��� 	�
$  � E�
K/�� ��

· · · NA
z −→ NA−4

z−2 −→ NA−8
z−4 −→ · · · . L162M

	0�� ����(��( �Z1 = Z − 2 3 Z2 = 2 ����� 3 α ��� ���( �8�� Z �0���/X �( ���� 	�
$ �0X 	0�� +�0$ T +��6 O/�
K/�* �� 8�/( U�� 	P(��6� /��� �� �=���, α ��� ��
F W��#6� 	� ���$ 	�
$ �0X

T ≈ R√
2E/m

e
2π(Z−2)e2

�

√
2m
E . L163M

��$ /��, 8
��( �� ��� 	�=%� Z1Z2e2

r O�%7 	( �� �<���<;� ��
����	��a�*6� ����U( ��0A� �� T +��6 O/� ����%� ��
����Y(��� 	( �� ��,,�F ��>���

� ���� � �� � > ( S% � ���,� �� ��� � 	 � 
 $ �� F� $ �m ≈ 4 × 2 × 10−24 g , Z1 = Z − 2 3 Z2 = 2 � ���� 3 α ��� ��� (
� ��� (� � ( �8�� �� 	 � 
 $ 	 �% 0 � �!� �� 	 � � �� � F � � 8 ;, +,� � < ;� +% � 
 � � ε �,/��� �� � G ;* O��� �!� �� �Z = 92

����� ���? �$ �8�� ���: 10−13 cm �� ���:  � �,/��� U�� R �� 	�
$ m��= �E ≈ ε× 106 × 10−12 = ε× 10−4 erg

8=�� ��$�%& ����(��( e = 4.8 × 10−10 esu

G ≈ e37/
√

ε ≈ 1016/
√

ε. L164M

,
R

v
=

10−13√
2×ε×10−4

8×10−24

≈ 2√
ε
× 10−23 sec ≈ 0.6√

ε
× 10−30 4��. L165M
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K/�* �� 8�/( ��6 ����� 	( 4�� �
��( �0X 	0�� 	a�����

T ≈ 0.6√
ε
1016/

√
ε × 10−30 4��. L166M
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 ��
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�  � ���<�6� 	� �/�( 	� 	���*  ��� �$ +%� �%
(  ��� ����� �� 	�;�P� ��  ��%��� ��
����  � gA( ��6 �����
��J�� 8N� �$ +,��<;� ��� , 8�� ���� ��6* /��C b�N��� +,��<;� /�?��  � +%��$ �/�� 	�:�F ��C 8�� �/= ��a�� �����(
�$�( �)�� , ����1� t�7 �>�/<��( �$ +,��<;� g�� �$�(6� +�%� �� ���2� ���� ������ �/��
$ /��C ��$ +%� S�0� 	(��C
�� t/$ �/�� ����a�� �d: S�0���  ��%��� ��
����  � �� 	<Y= ���? �8:�F�1��� �$ +%� 	<Y= �( �� +,��<;�  � g��
"�#  ��%��� ��
����  ��� 	� ����Y( , ���� 	�;�P� ��  ��%��� ��
����  �6� 4/� ���� ���� 	� 8�� +* gA( �����
��;� ��
���� ��$ ��? 6� 	� ����F ���1�����6 �<= 	( �
�
���� �F��� ���( �/�� ���/�� �U��0�� ��$ �FH�, 	? �!���

K/�� �/= ����
F ∞ �� −∞ 6� �$ ��? ��� , 8�� �/= ��<`� �>�/<�6� a �7�%:��

V (x) = −
N−1∑
n=0

V0δ(x− na). L167M

���� 8�� �;�2��� +��2� �%C, ��
���� ���6��0� 8
9&

V (x+ a) = V (x). L168M

K�%= �� "������6 �<= 	( 4�2��� �>
0X 	� ����� ��

Ta := ei a
�

P L169M

K8����6 ��%& ����� �>
0X ���

TaXT
−1
a = X + a, Ta|x〉 = |x− a〉, 〈x|Ta = 〈x+ a|. L170M
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V (X) ��
���� �$ ���( 	� 8:�F 	a��� +�%� �� 	P(�� ���6�

TaV (X)T †
a = V (X + a) L171M

����F �� 	a��� ����(��( 8�� +��2�� �� ��
���� 	� �a�*6�

[Ta, H ] = 0. L172M

U�� Ta ��$ 8;�� �H�, �� �!��� ��$ 8;�� �H�, ���� �����/�� �� �>
0X,� ��� v��`� ��$ 8;�� �H�, ����%� �� ����(��(
+* ��$��/2� �H�, 8�� ���<� �>
0X  � Ta 	� �a�*6� ����� 	�;�P� �� Ta ��$ 8;�� �H�, 8����)( ��� ��� ���( �����>(

	� ����� �� 170 	P(�� 	( 	C%��( ���? �$ �/��
$l;�& ��$6�:

〈x|Ta|ψ〉 = 〈x+ a|ψ〉,−→ Taψ(x) = ψ(x+ a). L173M

K/��
$��6 �:�e� 8�7�& ����� Ta �>
0X , �!��� v��`� R(�%� �H�, ����(��(

ψ(x+ a) = eiθψ(x). L174M

�� �6�� b���= E~� , ���� �� �� ��;� ��$ ��? ��( 	
7�:�� �� 	;���� 4%0�� W(�P� �>���,�= 	;���� �� ���( 4��
��
�%� �� ����( ����<( �$ ��? �N���

Ψ(x) =

⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

· · ·

ψn(x) = Ane
−qx +Bne

qx na ≤ x ≤ (n+ 1)a,

· · · .

L175M

�8�� �2�2� q ����(��( 8�� �G�� E 	� ���� �� ��,*��� �q =
√

−2mE
�2 +*�� 	�

K�%= ����6 	P(�� 	( �a�� na 	P2��� ]%� R(�� �>��%�� Z�=

ψn−1(na) = ψn(na), L176M

��,

An−1e
−qna +Bn−1e

−qna = Ane
−qna +Bne

qna, L177M
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��,

(An−1 −An)e−qna = (Bn −Bn−1)eqna. L178M

K����� x = na 	P2��� ����� �� ����( ��
���� ��$ ��? �N��� �� ]%� R(�� W�`� 4��

− �
2

2m
(ψ′

n(na) − ψ′
n−1(na)) − V0ψn(na) = 0. L179M

���,* �� 8�/( 	P(�� ����� ψn−1 , ψn R(�%� ���T>��C�(

− �
2

2m
[−qAne

−qna + qBne
qna − (−qAn−1e

−qna + qBn−1e
qna)

]− V0[Ane
−qna +Bne

qna] = 0 L180M

K/�* ������6 O�%7 	( +��� ����6� E� 	�

[
(q − 2mV0

�2
)An − qAn−1

]
e−qna +

[
qBn−1 − (q +

2mV0

�2
)Bn

]
eqna = 0. L181M

K��=�( 	�=�� /��( +* '����( 	� ���� �� 4�0X� �� 174 Z�= 4��

ψn+1(x+ a) = eiθψn(x), L182M

��,

An+1e
−q(x+a) +Bn+1e

q(x+a) = eiθ(Ane
−qx +Bne

qx) ∀ x ∈ (na, (n+ 1)a). L183M

�� Bn , An ����e ��( 	� ����F �� 	a��� /=�(�����( h%: �6�( +,�� ��$ x S�0� ���( 8
��( �� Z�= ��� 	� �a�*6�
K/=�(�����(��6 	P(�� 8
��(

An+1e
−qa = eiθAn Bn+1e

qa = eiθBn. L184M

K/�* ������6 �<= 	( 178 	P(�� Z�= ��� 	( 	C%��(

(e−iθe−qa − 1)e−qnaAn = (1 − e−iθeqa)eqnaBn. L185M
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K/�* ������6 �<= 	( 186 	P(�� Z�= ��0$ 	( 	C%��( ���? �$

e−qna

[
q(1 − e−qa−iθ) − 2mV0

�2

]
An = eqna

[
q(1 − eqa−iθ) +

2mV0

�2

]
Bn. L186M

+������� 	� /�%= �� �G7��� ]%� R(��  � 	a����� , Bn , An ���( �G7��� ��/2�  � 	( �a�� ���,�)�� 	P(��,� ���
K ���� 3/=�(�G7 �( �(��( ����e E�����

e−qa − eiθ

q(1 − e−qa−iθ) − 2mV0
�2

= − eqa − eiθ

q(1 − eqa−iθ) + 2mV0
�2

. L187M

/�* ������6 ���� O�%7 	( +��� ���� �0�6� E� 	P(�� ���

cosh qa− cos θ =
mV0

�2q
sinh qa, L188M

��,

cos θ = cosh qa− mV0

�2q
sinh qa. L189M

8����)( 	P(�� ��� 	�;�P� ���( �/�� ��lA`� �� Ψ 8;�� �H�, �!��� 	a����� , q ��/2� 	P(�� ��� θ ��/2��$ ��6� 	(
K/�* ������6 O�%7 	( h%: 	P(�� 	a����� ����� "���� y := qa O�%7 	( �� y /Q �( +,/( ��j�� 	�

cosh y − λ

y
sinh y = cos θ. L190M

�λ := mV0a
�2 +*�� 	�

8
��( �� U�� u? t�# W
P��/� ����(��( �8����<?%� �6� ���%0$ 8��� t�# W
P��/� 	� ��=�( 	�=����� 	( /��(
����3/=�( 1 , −1 ��(

− 1 ≤ cosh y − λ

y
sinh y ≤ 1. L191M

�� ���G��� �0���� @,�6� ��� ��� ���( �/�� �� ����� �� �!�����, q 6�a� ����2� 	a����� , y 6�a� ����2� 	P(�� ���
���� �� "���� �����

f(y) := cosh y − λ

y
sinh y. L192M
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	� �%= �� S%
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f(0) = 1 − λ, f(+∞) = +∞ f ′(0) = 0, f”(0) = 1 − λ. L193M

���,* 8�/( o^ �<= W(�P� �� 196 	P(�� �0���� �� +�%� �� O�X[#� ��� 	( 	C%��(
_%P� 3/=�(��0� ����N( /�  �6� ��? ���)� ��, W0X 	� ���, ���� 3λ = mV0 a

�2 < 2 ���( 	� �%= �� �/�� �<=��
3/=�( ��`�( ����N(/�  �6� ��? ���)� �� W0X 	� ���, ���� 3λ = mV0 a

�2 > 2 ���(, /�%= �� m,�= ��? 	Y; 6� �!���
�!��� _%P� 	� 8�� +* �)� 	�<� 8;��,��$�� �/�%= �� m,�= 	Y; 6��� ����� 6� 	<
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-
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���� 	0$ 	9A`� ��%� ��<`� �/�%= �� ��<`� ��%�  �
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K/=�(��6 O�%7 	( ��
���� 	� /��� q�: 4��

V (x) =
N−1∑
n=0

V0δ(x− na). L194M

�����>(�1��� 8Y5� U�� �� �!��� 8
��( �� ���� ���� ��/Y� −V0 	( �� V0 	� 8�� +* �
Y� ��
���� �( ��
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��/Y � 	� 8�� �:�� ��$� S�a�� �/�/C 	Y��N� 8
� � S6I �8�� ��
�� � � � �� ��� ( ���% � �� �&�� ��:� � � � t/$
����
�� ]�%�� �<= 	( �$ ��? 	
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Y� O�Y��N��� �� q −→ iq ��, E −→ −E , V0 −→ −V0
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Ψ(x) =

⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

· · ·

ψn(x) = Ane
−iqx +Bne

iqx na ≤ x ≤ (n+ 1)a,

· · · .

L195M

K/��* �� 8�/(��6 OI����6� U�� �!��� ��$��%�

− 1 ≤ cos y − λ

y
sin y ≤ 1. L196M
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ψ(x) = Aeikx +Be−ikx, x < a L197M
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,

ψ(x) = Ceikx +De−ikx x > b. L198M
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K8=%� ��6 O�%7 	(
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C
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)
=
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S11 S12

S21 S22

)(
A
D

)
. L199M
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K/������(

|S11|2 + |S21|2 = 1

|S12|2 + |S22|2 = 1

S11S
∗
12 + S21S

∗
22 = 0 L200M
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